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BHHX3—2 EEYIERATIEBESNSEEICETLEE (1/2) _ _ | #EEE TR
SERONE | EmES 129A0522 BT \ ZiE(2)-4 | FRTEME | EFAGRER KAEHT ZE=TH
. SMERM O T inIBES St i SERHEA
ﬁ%&g TREOBHOEILADKRES TREDHBEEILHOKRES TRFOBBOEILADKRES TREOHBERILNDOKRES
= = AV = HVE Tl = = T HVE = W HVE ==
5 X 4 .(ar,né; -Flﬁﬁﬁ(a)@ﬂﬁ%ﬁ jJOiONch)é X 4 'Fiﬁﬁgégg;kl .z.né; jj(llegcf)é X 4 .z,na)r J:mzb(z)@tt.a jj(llegcn%é X 4 J:m;b(z)@tl:.a 'Z]n? b(ﬁi/tnié
1 100kN/mM#%#BZ % 1.00(0.00 ~ 3.00 147.69(3m%# %% 0.00 ~ 0.00[ 3.00 15.16| 100kN/mM%#B x5 1.00 10.81 ~ 34.58 147.69|3m%#E 25| 30.00 ~ 34.58| 3.00 15.16
Zzh st 1.00{ 3.00 ~ 10.79 100.00f Z#Hist 10.00 ~ 10.79] 3.00 15.16 ZnLst 1.00f 5.00 ~ 10.81 100.00f #xList | 5.00 ~ 30.00f 3.00 15.16
9 100kN/mM#%#BZ % 1.00(0.00 ~ 357 157.71(3m%#8 %% 0.00 ~ 045] 3.25 16.42| 100kN/mM%#B x5 1.00| 10.60 ~ 34.71 157.71|3m%#E 25| 25.00 ~ 34.71| 3.25 16.42
Zzh st 1.00( 3.57 ~ 11.36 100.00f Zhist 1045 ~ 11.36[ 3.00 15.16 ZnLst 1.00f 5.00 ~ 10.60 100.00f #xList | 5.00 ~ 25.00f 3.00 15.16
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3mEE2 3 =~ = = =
Zzh st 1.00{0.00 ~ 5.70 71.30] #n s | 0.00 ~ 570 1.87 9.45 ZznLst 1.00f 500 ~ 6.59 71.30] #h st | 500 ~ 659| 1.87 9.45
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3mEE2 3 =~ = = =
Zzh st 1.00{0.00 ~ 753 96.26] Zn1 L4t 1000 ~ 7.53| 2.06 10.40 ZnLst 1.00f 500 ~ 10.22 96.26| #h1 st | 5.00 ~ 10.22 2.06 10.40
5 100kN/mM#%#BZ % 1.00({0.00 ~ 041 105.99|3m%E#E 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 11.38 ~ 12.78 105.99|3m%E 25 =l ~ - - -
Zzh st 1.00{041 ~ 8.19 100.00f Z4#L 15t | 000 ~ 8.19| 201 10.15 ZznLst 1.00f 500 ~ 11.38 100.00f #xList | 500 ~ 12.78 2.01 10.15
6 100kN/mM#%#BZ % 1.00(0.00 ~ 1.83 128.09|3m%E#E x5 = ~ - = —| 100kN/mM%#8 2% 1.00 10.59 ~ 16.99 128.09|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{1.83 ~ 9.61 100.00f ZHist 1000 ~ 9.61| 244 12.31 ZznLst 1.00f 5.00 ~ 10.59 100.00f Z#xList | 500 ~ 16.99| 2.44 12.31
7 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3mEE2 3 =~ = = =
Zzh st 1.00{0.00 ~ 7.65 98.11| Zh L4t | 000 ~ 7.65 2.29 11.60 ZznLst 1.00f 500 ~ 1042 98.11| Zhuist | 500 ~ 1042 2.29 11.60
8 100kN/mM#%#BZ % 1.00(0.00 ~ 0.59 108.77|3m%E#B x5 = ~ - = —| 100kN/mM%#B 2% 1.00{ 10.70 ~ 12.35 108.77|3m%EE 25 =l ~ - - -
Zzh st 1.00{ 059 ~ 8.38 100.00f #xLList | 000 ~ 8.38] 2.28 11.54 ZnLst 1.00f 5.00 ~ 10.70 100.00f Z#xList | 500 ~ 1235 2.28 11.54
9 100kN/mM#E#BZ % 1.00({0.00 ~ 1.80 127.73|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00{ 10.53 ~ 16.94 127.73|3m%EE 25 =l ~ - - -
zh st 1.00{1.80 ~ 959 100.00f Z#xL it 1000 ~ 959 2.39 12.08 ZnLst 1.00f 500 ~ 10.53 100.00f Z#xist | 500 ~ 16.94| 2.39 12.08
10 100kN/mM#%#BZ % 1.00(0.00 ~ 260 140.89|3m%E{B 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.62 ~ 21.75 140.89|3m%EEZ D =l ~ - - -
Zzh st 1.00{ 2.60 ~ 10.39 100.00f ZxList 1 0.00 ~ 10.39| 2.79 14.11 ZnLst 1.00f 500 ~ 10.62 100.00f Z#xList | 500 ~ 21.75( 2.79 14.11
11 100kN/mM#%#BZ % 1.00(0.00 ~ 257 140.38|3m%{B 2% = ~ - = —| 100kN/mM%#B 2% 1.00{ 10.53 ~ 22.08 140.38|3m%EEZ 5 =l ~ - - -
zh st 1.00 2.57 ~ 10.36 100.00f Z#xist 1 0.00 ~ 10.36[ 2.70 13.65 ZnLst 1.00f 500 ~ 10.53 100.00f #xList | 500 ~ 22.08| 2.70 13.65
12 100kN/mM#%#BZ % 1.00({0.00 ~ 249 139.05|3m%#B 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.79 ~ 24.29 139.05|3m%E 25 =l ~ - - -
Zzh st 1.00{2.49 ~ 10.28 100.00f ZxLList | 0.00 ~ 10.28] 2.58 13.03 ZznLst 1.00f 5.00 ~ 10.79 100.00f ZxLlist | 500 ~ 24.29 2.58 13.03
13 100kN/m%#B x5 1.00{0.00 ~ 272 142.94|3m%E#BZ 5 ol ~ - - —| 100kN/mM%# 25 1.00( 10.58 ~ 24.62 142.94|3m%EEZ D . ~ - - -
Zn Lot 1.00{2.72 ~ 10.51 100.00f ZHLis | 0.00 ~ 1051 2.65 13.37 ZznLst 1.00f 5.00 ~ 10.58 100.00f Zhist | 500 ~ 24.62| 2.65 13.37
14 100kN/m%#8 x5 1.00({0.00 ~ 268 142.22|3m%E#BZ 5 ol ~ - - —| 100kN/mM%# 25 1.00{ 10.70 ~ 25.68 142.22|3m%EEZ 5 . ~ - - -
Zn Lot 1.00{ 2.68 ~ 1047 100.00| Zh A4t | 0.00 ~ 10.47] 2.93 14.80 ZznLst 1.00f 5.00 ~ 10.70 100.00f ZHLish | 500 ~ 25.68) 2.93 14.80
15 100kN/m%#8 x5 1.00({0.00 ~ 284 144.93|3m%E#BZ 5 ol ~ - - —| 100kN/mM%# 25 1.00 10.75 ~ 23.77 144.93|3m%E}EZ D . ~ - - -
Zh st 1.00| 2.84 ~ 10.62 100.00f #hList [0.00 ~ 10.62| 2.84 14.37 Zh st 1.00| 500 ~ 10.75 100.00f #hkls | 500 ~ 23.77| 2.84 14.37)
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&5 X 4 .(Er,na; -FiﬁﬁfJ(z)O)EEE’E jj(gilch)é X 4 'Fmﬁzégg;kl .z.na; jj(gilzcn%é X 4 .(Er,na; J:mzb(z)ott.s. jj(gilch)é X 4 J:m;b(z)@tt.a 'Z]né){ ﬁ(ﬁj/t:ié
16 100kN/mM#%#BZ % 1.00({0.00 ~ 264 141.59|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00 10.53 ~ 2243 141.59|3m%EEZ D =l ~ - - -
Zzh st 1.00(2.64 ~ 1043 100.00| Z#hist |0.00 ~ 1043 2.72 13.77 ZnLst 1.00f 500 ~ 10.53 100.00] #hist | 5.00 ~ 22.43| 2.72 13.77
17 100kN/mM#%#BZ % 1.00({0.00 ~ 146 122.16|3m%E{B 25 = ~ - = —| 100kN/mM%#B 2% 1.00 11.10 ~ 17.21 122.16|3m%EZ 5 =l ~ - - -
Zzh st 1.00(1.46 ~ 924 100.00] #hkist | 000 ~ 9.24] 221 11.18 ZnLst 1.00f 500 ~ 11.10 100.00| #hiist | 5.00 ~ 17.21| 2.21 11.18
18 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 3.91 49.08| #hlist [0.00 ~ 391 2.41 12.19 ZznLst 1.00f 500 ~ 7.65 49.08] #h iy | 500 ~ 7.65| 241 12.19
19 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.90 7391 ZhList 1000 ~ 590| 2.11 10.66 ZnLst 1.00f 500 ~ 857 7391 Zhist | 500 ~ 857 2.11 10.66
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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